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Question: Mark the correct answer. (Marks 18)
1) The function  has
(a) two local extrema   (b) one absolute maxima  (c)   one local minima and one inflection points
(d)  one absolute maxima and two inflection points	(e) one absolute maxima and one absolute minima

2) If   and  then the largest possible value of  is
(a)      	 (b      	 (c)          	 (d) )          	(e)     
 
3) The absolute minima of   in the interval  is 
(a)          	 (b)              (c)       	 (d)     	(e) 0  

4) The function 
(a) is increasing on              (b) is decreasing on           (c)   has one local minima on     (d)  has one absolute maxima only on 		(e) has one absolute minima on 

5) The function  has local minima at 
(a)1     	 (b)      	 (c)      	(d)    	(e) 0  
6) A partical with a position function  traveled 8 meters during the first   seconds. Then 
(a)           (b) 1     	 (c) 5       	(d)  4      	(e) 0  
7) If the first approximation is  in the Newton’s method for the evaluation of  the the third approximation is 
(a)          	 (b)              (c)       	 (d)     	(e) 0  
8) If , the 
(a)           (b)              (c)       	 (d)1   	(e) 0  
9) If  then  
(a)           (b) 1     	 (c) 5       	(d)  4      	(e) 0
10) A rectangle has its base on the x-axis and its upper two vertices on the parabola the the largest area of the rectangle is
(a)           (b) 16     	 (c) 32      	(d) 64      	(e)100
11) 
(a)          	 (b)      	 (c)      	(d)    	(e)   
12) Using the linear approximation then the estimated value of is 
(a)           (b) 1.01     	 (c) 0.96       	(d)  0.9004      	(e) 0.009
13) If then 
(a)            (b)                 (c)         (d)   4+          	(e) 0
14) The equation of the slant (oblique) asymptote of the curve  is 
(a)           (b)         (c)              (d)         (e)            
15) 
(a)          	 (b) 1     		 (c) 0   	  	(d)    		(e)   
16) If  then slope of the normal line at  is 
(a)           (b) 1     	 (c) 5       	(d)  4      	(e) 0
17) If   then for what value of  is continuous everywhere.
(a)           (b) 1     	 (c) 2       	(d)  4      	(e) 0
18) If  ,then   where g(x) =
(a) 1           (b) sec x tan x                 (c) sec x             (d) tan x                   (e) −2

